[https://HAR PR .com] H AR FHERGAB R AT 2 — X 28071 1 7150515

MO017

st y=log(x—2) EDSP(t, log(t—2)) BT 2L ylEORREZQ L L, K

Pine yiilic F5 L7 fia PR 255, APQR Ofifiz AL L, LPQR=0 1%
L, KORBE K,
1) t=L420L%, HQO yiEmEERD L
e
@) AORMIERD L,
(3) t=5m&Lx, sin20 OfEAEKD L,
(4) Asin20 OFKE A KD L.

AABCIZHWT, BC=1, ZABC=20, LACB=0 ThHHLT5H, ABOEI% x,

ACOESH ybd5L %, WOBWIEZ L,
(1) %%0%%b\f2@ﬁo

(2) xc0s20 + ycosO 1 0 [ZHBMRIMETH D Z L EaH,
B 1 y# 0 BHOCTELE,
4) x=10), y=g(0) £TDHL%, xy FHICBT LS8 x=1(0), y=9g(0) LD

(d%)g&%»f@ﬁﬁ@ﬁ&ﬁ%ﬁwa

1 2cos @

#E (1) L=2c0s0 (2 3 gm——— = 2C0SU
= x 208 @ W © = 4cos?6 —1 Y 4cos?6 —1



